
ABC EXAMPLE: 

 
MIRUNZINI Company sells umbrellas suited for small and large picnic tables. The company 

has accumulated the following data. 

 
Activity      Overhead Cost 

            R 

Purchasing       300 000 

Receiving       150 000 

Sales        150 000 

 

Number of activities for small and large umbrellas was as follows: 

 

              

         Small           Large 

 

Shipment received              12 500   7 500 

Sales order      8 500   6 500 

Purchasing orders    10 000  5 000 

 

Units manufactured 10 000 small and 2 000 Large 

 

Required: 

 

Compute product costs using Activity-Based Costing (ABC). 

 

Step 1: Activity identified above 

Step 2: Determine cost of each activity or cost centre 

Step 3:  Identify Cost driver volumes 

 

Step 4: Match Cost driver with a specific Activity overhead cost. 
 
Activity  Cost driver  Overhead Cost       Activity rates 

                       R   R 

Purchasing  Purchasing orders           300 000   20 (300 000/15 000¡) 

Receiving  Shipment received          150 000  7.50(150 000/20 000¢) 

Sales   Sales orders      150 000  10  (150 000/15 000£) 

 
¡ = 10 000 + 5 000 purchasing orders 
¢ = 12 500 + 7 500 shipments received 

£ = 8 500 + 6 500 sales orders 

 

Step 5: Calculate Activity rates 

 

 

 

 



=           Cost of activity or cost centre 

                        Cost driver volume 

 

 

Step 6: Calculate costs associated with each product using activity rates (total costs for all the units 
of the specific product) 

 
 
       Small                        Large    

 
Purchasing    200 000¡  100 000¢ 

Receiving      93 750£    56 250¤ 

Sales       85 000¥    65 000¦   

     378 750  221 250   

  
 
¡ = R20 x 10 000 purchase orders 

¢ = R20 x 5 000 purchase orders 

£ = R7,50 x 12 500 shipments 

¤ = R7,50 x 7 500 shipments 

¥ = R10 x 8 500 sales orders 

¦ = R10 x 6 500 sales orders 

  

Step 7: Calculate cost per unit 

    

Small                             Large    

 

 

                378 750/ 10 000 221 250/2 000 

     = 37.88  = 110.63 

 


